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| A - Instructions for the candidates :

1. gilamef om
i OMR 3?( ';3;350' ;;fm I. Candidate must enter his / her
Eﬁd’a@" HHE &) Question Booklet Serial No.
ECrD (10 Digits) in the OMR Answer
Sheet,

2. QRiEmEl gurgva g Rici # & 2 Candidates are required to give their

?FI'( g1 ~ answers in their own words as far
. as practicable. '

3. Fﬂﬁ'ﬂ? R g1fvrd o 3 gy 3HF Tﬂf?v' 5 Figures in the right hand margin

indicate full marks.

e #xd &1

4, gl H Wﬂé&‘ 7+ & [0 4. 15 minutes of extra time have been
R #1 15 e &1 e T899 allotted for the candidates to read
fear mar 21 the questions carefully.

5. . a7 JvT gieereT ¢ @vel § 6— @US-H 5. This question booklet is divided into
g @US-/ two sections — Section-A and

i Section-B. |
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Section-A, there e

6. @Ue-I & 70 awglie W & frd 6 In "
70 objective type questions, o, o

@ fat 35 wvat &1 v 3T A
&1 35 77 @ S FT IW A W
T 35 %1 & qodiE gl T4E &
e 1 s Fuifa &1 g7@7 I A
foo 3ueT U3 T OMR IT-UAF
5 fw o @t frweq &1 A / FA
qT 97 @ g7 FE1 fFE 4 wEw
& weeaw / T W [/ &g /
ArgT AT FT OMR IO A& H
Tt FAT AT & AT G
qRoTe 3T &

@Ug - T § 209 IFT WA E |
veiE & fov 2 i@ Fuila 8 fad
g fre 10 wvAt @ I AN
afard & | @ sfafe & avs d
6 A Ia Wy 3 MR &, 7E9E F
o s siw Frifa & frm @ Rl
3 gyt &7 I 3T A &

fradt gFR & ForaiiAs IIHU H 8.

s qutaar afa & |

which any 35 questions are ¢, be
answered. Jf more than 35 question,
are answered, then only first 35 wil
be evaluated. Each question camip,
1 mark. Darken the circle with bly,
/ black ball pen against the correg
option on OMR Answer Sheg
provided to you. Do not use
whitener / liquid / blade / nail
etc. on OMR Answer Sheet,
otherwise the result will be

invalid.

In Section - B, there are 20 short

answer type questions. Each
carrying 2 marks, out of which any
10 questions are to be answered.
Apart from this, there are 6 long
answer type questions, each
carrying § marks. Out of which any
3 questions are to be answered.

Use of any electronic appliances is
strictly prohibited.



WTS - 3 / BECTION - A
v 9T 1/ 70 WTWW / Objoctive Type Questions
mewwmmm*mwﬁmmwt Brrd # v @t &1
ﬁomn?zwﬁvﬁwaaﬁlﬁﬁﬁaswﬁwm#:

Question Nos. 1 to 70 h 35 x 1 =35
mark you ave four options. out of which only one is correct. You have to
r >3 .

selected option, on the OMR-Sheet. Answer any 35 questions. 35x1=35

1. g W e Al WY @
(A} H0 - B O,

(C) NacCl (D) cﬁHb

The substance which exhibits paramagnetism is:

(A) HzO (B) 0,

(C) NaCl (D) Ce¢He
o fiyerger i AT ST HERA z

(a) gt sraisEAr g (B) EIEEA SIAMIES sfuferar g

(C) THISHA-SRIRH sfviferar g0 D) T A FE T

Methylamine can be prepared by
(B) Hofmann bromamide reaction

(A) Wurtz reaction
(D) None of these

Friedel—Crafls reaction

(C)
3 i g G
(A) CuFeS (8) CuFeS,

11118 | A [(A)-9005-ABY | Page 3 of 28




The formula of copper pyritc is

(A)  CuFeS ' () CuFeS,

(€ Cu,S | : D)  CuyFes,

0:01 M oI faeme #t e § 0-01 M MgCl, e % fewie A I &
(&)  HHH - S

© e far D) e 8 Al

In comparison to 0-01 M solution of glucose, the depression in freezing poing o
0-01 M MgCl, solution is https:/www.bscbstudy.com

(A) same (B)  about twice .

(C) about three times (D) - about six times

welfeX M TR F HF T E 2

(A) CH3;NO, (B) CH,COOH
(C) CHCHNH, . (D)  H,NCH,COOH
Which one is capable of forming zwitterion ?

(A)  CH3NO, (B) CH,COOH

(C)  CH3CH,NH, ‘ - (D) H,NCH,COOH

s fafe & 91 o 1S F 1w o wo giar &

w A B C
el e © co
The process of smeltipg.in_volyes reduction of metal oxide with
S B c
g D co
018 ) A [(A)-9008Aas 5
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. B) == k4B -
(C) N = K1A101 a1
AP o) wEARE

T
he rate of zero order reaction A+B—Cis

(A)  Rate = KlA]E’iB{O | (B) Rate = K(A}'{B)°
(C)"  Rate = K[A)°|B) (D)  none of these
8.  Hfowgw wilz & yew awad | wd € ¥
| (A)  HCHO () HCOOCH
(C) CH3COOH . (D) .CHZCHO

Dry distillation of calcium formate gives
{A) * HCHO ' (B) HCOOH

(C) CH;COOH (D) - CH3CHO

A, B 3R C e 1 T HOE e W FH: + 0468 V, -2:50 V #H - 0:50 V

&\ 3AF Sraan ufh @1 A R

(A) A>B>C (B) A>C>B

(C) C>B>A (D) B>C>A |
potential values of elements A, B and C are + 068 V,

The stémdard reduction
| er is

2.50 V and - 0-50 V respectively. The order of their reducing pow
a) A>B>C (B) * -A2CHE
© C>B>A o Pt -

[118 ] A | (A).9005-Ac1
\
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0 A Fg e ?

fetfers
(A)  FIIRISEE (13) o
o i ) FE AT
(C) Hich
What is an cnzymc ? i
(B) .
: «drat
(A) :.;rboh_\c rate - T
(C) rotein
) ewee SR &1 Wigv Rl S €
faeaga far gr
A FA-Seened fafu grT @ faEd
€ §F IR o G &S @
Sulphide ores are concchtral'cd by
(A)  Froth floatation process (B) Electrolysis
(C) Roasting (D)  none of these
lz. forgel woTa g ST &
) faer (8) awq
€ wad (D) =sd A
. Tyndall effect is observed in
-(A)  Solution (B) ‘Precipitate
{C) Sol | B Vapours
13, Qfﬁmm@mm%ﬁaaﬁmm%
(A) I fvfirg B) +
L o (D) ¥ J #t$ 77
[ 118 ] A (A)“QOOS-A(sn .
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14.

1S.

16.

(A) CHp=CH;

(B} Kolbe's rcaction

(D) Nonc of these

ICr(H, 0
2 ).;C| *
2" SFa 5
Cr 3 Srerdrgroy
WA &

B) +3
@) +6

The oxj
ldation n
umber of Cr in the complex {Cr(H,0),Cl, 1" i

A B) +3
D}y +6

TARR 3R F1 3207 &

(C) —H9% (D) T

An example of amorphous solid is

(A) Diamond (B)  Graphite

(C) Salt (D) Rubber

- KOH
m CQHSBI m &1 I4E %
(B) CH,CH,OH
(D) 3 W FR AR
KOH

The product of the reaction C,HsBr Alcoholic
(B) CH,CH,OH

(A). CH,=CH,

(C, CH:,CH)OCHZCH:;

(D) none of these

() CH3CH20CHZCH3

Page 7 of 28
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17. Muﬁmhwnﬂzﬂmmmmmﬁaﬁ?

W e TR g faweR AES
©) wifsgn FNES D) e A

Photographic film plate has an cssential ingredicnt of

(A)  silver nitrate (B) silver bromide

(C)  sodium chloride (D}  oleic acid

15, R e = siSihear & foie.dn aw A R #t T T B € 2

A T | | (B ¥
© R ) g
Tke unit of rate and rate constant is same for the reaction of which order ?
(A)  Zero o 07 (B) First
{C) Second X (D}  Third
B - ﬁqﬁfa’mﬁﬂﬁmw—nuﬁwﬁmz’Im% ?

Which of the following undergocs aldol condensation reaction ?

A} HCHO ‘
8 CH3 -0~ CH3
(@ ceHscHO
. o (D) CH,CHO
0. SRR i
® E sl s e
_ B} N;+HCl




21,

22.

23.

{1] *
(C’ N2 - NH,‘C| ) N, + HCY

ﬁqmmmﬁa?ﬁﬁm%;»

‘D) N2 ' NC|3

(A =ear

(B) HieTH
(C)  Hiewan (D)  EEEa
Which is not affected by tcmpcratixrc ?
A g L] - .
(A) Normality (B} Molality
(C) M?l&r?ty (D)  Formality

~ v .
FHfutsmar cuscn_“a"_.,.am e ¥

(A)  CH;COOH . . (B) CHsCH,NHOH

(C}  CHZCONH,. (D)  CHRCHO

. ) - ' *
The product of the reaction CHscN——’LO——»is

(A) . CHZCOOH (B)  CHyCH,NHOH

(C)  CHCONH, (D)  CH3CHO
ﬁﬂﬁm’?-mmmmmﬁm% ?
(A) F=F B} C1-Cl
. (Dy Br- Br

c 1=t

he following bonds is the strongest ?

Which of t

A | Cl-Cl
5 . (n) Br - Br

© Page g ol 28
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muaﬂﬁwhwﬁ@mﬁmwmawﬁwﬂ%

27.

ms\\'
o ey

2. TPl A agenm @
(A)  Refas e (13)
(C)  FerNRTE (D)
Vitamin A is known as
(A)  Ascorbic acid (B)
(C) Calcifcrol (D)
25. ¥V AT HGw@T § Ul ShAaren Ui 8
(A)] | (B)
(€) HIW (D)
The metal always found in free state is
8)  Gold ' (B)
(C)  Copjer (D)

(A)  ATET HYYE TR (B)
(€)  (4) 3 (B) gt (D)
The best way to protect iron from rusting .is
{A)  making iron cathode (B)
(©  both (4) and (B) D)
R R g - .
A ¢ H0
2H50CH, (B)
© g0
2%y 2H5 (Dl

W=t

B!

Retinol

Tocopherol

wa
wifgaw

Silver

Sodium

@R 5 F 3 TEaw
T ¥ B

putting it in saline water

none of thesge

CH30CH,

e
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Which ig cthoxy cthanc ?
(A)

CQHSOCHQ
(B) CH :
© cHz0e,H, | 3 ==
}  Nonc of these
28. '
% 3 ot Ao 3 ?
(A) aﬁ?llﬁiﬁ{
‘ (B) EmvawfTy
(C) -
i Y Oy feefE B,
Which of the following has magnesium ?
(A) Chlorophyll (B) Haemocyanin
(C)  Carbonic anhydrase (D) Vitamin By,
29. HEAfE sfusteor § feadt B & 2
a T By |
(C) FH - O) I
How many layers are involved in chemical adsorption ?
(A) One ' . B Two
(C) Many . (D)  Zero
0. A¥omse, fedrer @ Rrae ary sfafear g w @8 2
(A) W ®.
(©) EHCeERS ®)

- Bakelite is obtained from phenol by reacting it with

Acetal
(A) Acetaldehyde (B) ce
' . lorobe
(C) Formaldehyde (D)  Chlorobenzene

118 | A (A)-goos-A@—j page 11 of 28




s reftaoT ST &
31. :ftma*ei'eﬂa:iu‘rfrra!:x‘,mi(C?*'hl”‘{ﬁ'amﬂﬂ o

(B-, + 1
o) -1

oxidation state of nickel is

"N 0
€ +2

. he
In co-ordination compound Kal Ni(CNlgl. ¢

W o @ !
C)  +2 @ -1
32, FF NS a0 € ?
(A} CeHGNH, (B)  (CeHshaNH
(C) CH,NH, . (D) (CH3)NH
Which is the most basic ?.
(A)  C HgNH, (B)  (CeHs)NH
(C)  CH3NH, (D)  (CH;),NH
33. HHPEEE GHEE H AEE @ T
B)  CobzOH (B]  C,Hjq;;0H
€)  CoHzaOH D) THARE
The general formula of monohydx:ic alcohol is
(A)  Cqllzn, OH (B)  C.H,,,,O0H
(€ CaHaOH (D)  None of these

34. U fefeifad 9 } e seeor & )

(A -. I B) frenas

€ T

D)

ljlrJIr -LJU-}-}U‘[

lt;ll.}ubli.—fu\-l FESVERWE Y

RS LS

[ 118 ] A [(A)-9005-Ap1) Page 12 of 28



Milk ig an example of
(A)

Cmulsion
(C)  so) B)  suspension
(D)
35. ﬁﬁ nonc of theae
(A) Sn
(B Pb
(€  si ’
. (D) Ag
Galena is an ore of
(A 3 .
)  Sn ® b
C -
| ( ). Si D) Ag
36. HG PRR T Jeqw Fwar &
(A) i i (B) DNA
() (o= D) FHR
The human body does not produce
(A) Enzyme e (B) DNA
(C) Vitamin (D) Hormones
37.  2n(s) | Zn®(ag) || Cu®(aq)| Cu(s) &
A) FA=A q () A H
) Hed ad (D) T/ FIe T

zn(s) | Zn**(aq) [| Cu?*(aq)| Culs) is
(A) Weston cell | (B)  Daniel cell

(c) Calomel cell (D)  None of these

Page 13 of 28
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3
8. CHLON & avgasyoy 37w den &

@A) cH, &)
(D) C2H5COOH

CH,COOH

© ¢, HeNn,

CH;CN on reduction gives

OH
A cH, (B}  CHiCO

OOH
(C)  C,H¢NH, (O} CoMsC

39. W yad I

(A)  HCIO, (B} HCIOg
(C)  HCIO, (D)  HCIO

The strongest acid is

(A)  HCIO, (B) HCIO;

(C) HCIO, . (D) HCIO

40. 2342 UM I % Tet § 34.2 U A ¥ 1 OH B AT JIOT 4T @M 2

(A) 01 ’ By 20

€ 30 (D) 4C

234-2 gm of sugar syrup contains 34-2 gm.sugar. What is the molarity of the
solution ? -

(A) 01 (B) 20

€ 30 (D} 40

41, ﬁwaﬁﬁmmmnﬁmﬁﬂfﬁ@aﬁﬁ%;

CHOL 40, T . + HC1'?
(A)  Co, | B) ¢l
[C) coci,

(D) 9 ¥ *ig Ja
l 118 ] A (Al"QOGS-A‘gu =il g
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42.

43.

- 44,

Which one of (he following

CHCly+0, Mg | +1C) ?
A c
O, w oy
(€} coc, (D)  Nonc of theae
IUPAC vttt ¥ wellels = = &
A)  AEw _ (B) U™
(©) R ©) T
- The name of acetone in [UPAC system is
(A) Mcthanal (®  Ethanal
(C) Propanone (D) Ethanone
frtiferar rfufisar w1 Wi wiawe &
@ NO2 snama |

(B) CgHsNH,
(D) CgHg

(A) CgHsOH

(C)  CgHsCHj
The main product of the following reaction is

o
C6H5NH2

In the manin predluct  of the  rractian

).lllrllll' .uu-}-}\—fl

wF lt;:l.lubl!\._)uwl FESVES W]

[EVE W



Which 0o 4 .
f the followmg IS artificial SWeetening agent 7
(A) Sacchariy

(I3) Aspartamec
(C)

Sodium cyclomute

9 ﬁqﬁ#““‘“‘?ﬁ*m%?

(D) Al of these

(A) e ' (B) AGAH-6
@ s (D) A
Which one of the following is natural polymer ?
(A)  Protcin (B)  Nylon-6
(C)  Buna-$ (D)  Terylene
36. m%(lvymwﬁw%
() [PYNH,)|CI, (B)  [Pt{NH;)]CL,
() [PYNH;),Cl, (D) [Pt(NH,),]Cl¢

The correct formula of hexamine platinum (IV) chloride is

(A)  [PiNH,)]Cl, (B)  [PYNH,)]CL,

© P, D e,
47.  Freafafaa ¥ @ P sheesta O @1 a0

(A)  NaCl . (B) ZnS

(C)- EaE| (D)  sic

Which one of the following is an example of an amorphous solid ?
(A) NaCl (B) 2ZnS
{C) Glass (D} SiC

[ 118 ] A {(A)-9005-Aiy Page 16 of 28




48, fq-q. ﬁ
q w i
ST oy ¥
A v
(©) ) LD e
Which o L
o, ‘nc of the following iy 4 colligative
szcosily P
| (©)  Refractive index B) " Surface teneion
49. 1 HRT A2+ i @) Osmotic pressure
Bl Al ¥ 3oy ¥
| o et o =) axrayereen @ty o
(A  3-0x105¢ - -
(B) 2895 x 108
{C) 289-5x105¢ ©
s : (D) 2895 x 10%¢C
ow much i i
ch charge is ?equxréd for reduction of 1 mole of AR* 1o Al 2
A) 30 §¢
' (A) x 10°C - (B) 2895x10°5¢C
. X 5 ) * . .
| (C©) 289-5x10°C : (D) 2895 x105C
50. slﬁqm aqaﬁaﬁmﬁjﬁfaﬁaa%#fm @R A FH ot &
(&) nfes S @ i oo
© whFEw s - () st s+ Rt s
The minimum amouni of energy required to convert reactant molecules into
products is
A) Kinetic energy (B) Potential energy
(C)  Activation energy (D)  Kinetic encrgy + Potential encry
G : R
51. it srfgiteer A e S S gt & (k)/mol)
. B) 40-60
(A) 20-40 .- ()
(c) 60-80
Pagc 17 Of 28
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In physical adsorption the approximate heat energy evolved in kJ/mol is
n oo

(A)  20-40 (B #0980

(C) 60-80 ' (D)  40-400

52, s,2 fwafafy § fmfor gfar &
()  @IE YATGH Bl ; (B)  TehHUT a4

(C) H® o ol . (D) P& HIMEA

Sy2 mechanism proceeds via formation of

(A)  Carbocation ; (B, Transition state

(C) Frece radical _ : (D} Carbanion

53. P d @ s afe s d et

i,}, CHCl; : (B) C,Hg-0-C,H,

© ccy _ (D} CH3CH,0H |

Which one of the following compounds is 'soluble in water ?

(A)  CHCly | " | (B) CoHe -0 - CoHg .
r (C) ccl, (D) CH30H2QH

59, TR S (~ C = 0) % ey T - W gl &

(A) sp (B.) sp®
© sp . D) spa
The hybridisatic;n o.f carbon in carl;onyl group ( — (l_‘, =0)is
A  sp | B)  sp?
€ sp® D) spid

[118]A (A)-9005-Agr;
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4 ax l'(\r‘\a'v

5S.

57.

TR
) NaOj
1%
* 3
(A; % iy 7])& Em'} :
S Roume v
€ Ay T B} i

(B) Acctone
) Ethy formate

A} G | _
- (B) i
(€ . TRe sewe
- (D) A 1 37
- The product of the reaction ¢ HN =N G Hy0 is
(A) Aniline (B) Phenol
(C) Methyl alcohol (D} none of these
sl OHCH, - (CHOH), -CHO—4k8 , ¥ 3% &
(A)  REIG ' (B) e
©) ToEEIHE A () ¥ F ¢ w

HI, A i
In reaction OHCH, - (CHOH], - CHO————>.ccriuens , product is

(A)  Fructose | (B)  n-hexane
None of these

(C)  Gluconic acid (D)

f o @ fpad pr-dr qeA € ?

(B) CO3
(A) NOj -
) ) 03
i) 803 page 19 of 28
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Which of the following has pr-dic bond ?
(A} NO; (B CO3”
© BOY (D) SOF
$9. = 16 F a FEAR &
(a) tErw ' (B) e
(C) T aA . o) IR T

The clements of group 16 arc known as
(A) ._ Halogens s - (B Chalcogens

(C)  Transition clements ' (D) Noble gases

'60.  WH FeHHvT Avit T Seamn Sl ST W FEEE T €

(4 N B Cr

(Q Fe : (D) Mn

The clement showing highest oxidation state among first transition series is
(A) - Ni " (B) Cr )

(€  Fe (0) Mn

61, e @ e o a7 Sl ' whoes 0 @ e & 7

A) wERE B) ufieags
(C)  FeFHoT Y O @ HIq
In which of the following clements af cncfy level is gradually ﬁllcd ?
(A)  Lanthanides ' (B). Aclinides
; (C)  Transition metals - {D)  Coinage metal
s
[ 118 | A [(A)-9005-A@y
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By 4
The co-ordinatig,, Num D 6
be of Cp
a3 Ka[Cr(C?O« ha]is
€ S B) 4

(A) *HE‘IEB.
B I
(C) RMHS ‘
D) T F g =
The Electrom
otive force (EMF) of the cell for the 1 g
state is cell reaction at equilibrium
(A) positive B zero

C ncgati
() Epsve nonc of these

@ ng + 2Na——> + 2Nax3ﬁm%

) fefen aifsfrar ®) 5o afufEr

€ gor-fefem siffima ) e s

X
ether + 2NaX is known as
Reaction 2 @ + 2Na “

Wurlz reaction
(A)  Fittig reaction

Kolbe's reaction B
(C)  Wurtz Fittig reaction (D)

8] A [{a)-9005-Aw1]




ﬁmﬁauﬁmm&ﬁmﬁmﬁmaﬁfmr%mmm

65.
ST ?
&) TeTE TR (B) @iea Sl
©) ToR-IMR swiwEaT o) Hfem Ffabw

. . ?
By which of the following rcactions Phenol is converted into salicyl aldehyde =

(A)  Etard reaction (Bl  Kolbe's reaction
(C)  Rcimer-Tiemann reaction {D} Cannizzaro's reaction

66. mﬁramn}#ﬁmnh%ma’lmﬁ% 2
(A) H.Cl | | | {(B) CHCl, + Koﬁ

" (©)  NaOH (D) CHC_I;:,
Px;imary amine is detected by . . .
(8)  CHCl, ~KOH

(A) Hcel
. (€) NaOH (D) CHCl,
67. Uwnilas e &

o ffE | B) T

© wWeE (O) TR
Ascorbic acid is a

(A)  Vitamin - (B) Enzyme
(C) Protein (D) Amino acid

[ 118 ] A [(A)-9005-A@y) Page 22 of 28




Fan ¥ FRen

(A) SRR !

; mﬁ B e

qi\aai ‘D » ., .

A substance which o o
lowers the body tlemperayy

(A)  Antipyretic (B) —_—

Analgcsic

; O} nonc of these
69. T H T IdAREH :
4 ewmmﬂmﬁwﬂmmtaa&nmﬁ
g ¥ 7 o
(A) Wizl Sy (B) FFA 7
(C) F-centre (D) TH T FE T

When an clectron occupies the empty space of negatively charged ions, then the
defect in crystal is
(A) Schottky-defect (B}  Frenkel defect

(C) F-centre (D)  None of these

70.  Ca(NOs) ¥ a2 &% TUT Bl &

Ay ! B 2
¢ 3 o)y 4
The van't Holf factor of Ca(NO3); 18

1 B 2
(A)

3 (o} 4 J—
(C)

page 23 of 28
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@Wog - M / SECTION - B

¥ 39 WIT / Bhort Answer Typo Questions
T wEar 1 #2055{3?1#0#1&?‘?1011#%3?7? 'lmérﬁv.zafw

Praffier # : SORARES
Question Nos. 1 to 20 are Short Answer Type. Answer any 10 'q‘uestions. Each question
carrics 2 marks : 10x2=20

1 Frg & sfoeifaa x=1 =9t HET T 3 . 2

o

Glass is assumed to be.a supcrcooled liquid. Why ?

Wﬁm?“n-%mﬁmxouémnﬁ%m*wm% ?

.

2
What happens when n—butyl chloride is treated with alcoholic KOH ?
3. e qﬁ'a'r{ & - ﬁh WHE ? https:/www.bsebstudy.com "9
Who are the members of halogen family ? o
4. mﬁzma)sr%wm(smm 4o)aﬁmﬁm200cm ﬁdmmwn

2

. ﬁﬁmaﬂmmaﬁml

"4 yam of cauatlc soda ( molar mass = 40 ) is dxssolvcd in water and solut:on is

made t0.200 em® Calculatc the molanty of solutlon

5] ?zm 1 g@ WaeH T % ?
What are the main constituents of Dettol ?

- e ol @ o e & srren 9 i fea s 2 s ¥

Which type of ores are concentrated by froth floation brooess ? Give examples.

2.
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5,

10. ma’:ﬁz‘ﬁeﬁ.ﬁ " ; N

2

The rate constant for first order reaction is 0-0003 min-'
life.

. Caiculate its half

. ﬁﬂdﬂ%mmﬁaﬁ?-mxmqam%f 2
What arc the cx.pcctcd products of hydrolysis of lactese ?

12, ﬁﬁaavr%éa;zé% ) IR FRT AT
Define double sé!ts with suitable examples.

13 Wﬁmmuﬂﬂﬁmﬁmaﬁl

¢ acid and cthanoic acid.
§ a ad & 2

s. Why ?

rentiate between mecthanol

il & ey fredn e €5

ively largc a‘omic radiu

Diffe

g, IFE

Noble gascs have comparal

¢ 8
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16.

17.

8.

19,

20.

sarad e ¥ I a9l WS ¥ 2
what do you understard by sccondary cell ?

Freriethan awt @ g famama ford -

) V{(Z=23) (i) Zn(Z2=39)

Write clectronic contiguration of the following clements

i VI(Z=23) (i) 2Zn(%=30)

I

Reiiel eroeied ﬁmqr I F 1 F ?

Phenol is more dCldl( than alcohol. Why ?

wﬁranscczmmanmaﬁmqm&wrﬁmaﬁ Jfz fArEs

IHETE T ®Y (A1 351 pmn €1 2

Lithium forms BCC crystal, Caiculate the atormc radius of Lithium if the length

of the side of 2 unit c¢ll of Lithium is 351 pm.
PH, ¥ NH, &I 3@~ FIo1 781 €131 ?

Bond angle in NHj is greater than in 'Pl-la . Why ?
L B |

Prafefea se-ame sfulrar 1 Pt g -

_,-o.

i) CHyCHyCHNH, ; ~HCIT—
i) (CyMg)3N +HCl—-
Complete the following acid-base reactions :

l’ CHgCHzCHQNﬂz + HCl

ii) * (CoHg)sN +HCl———
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Question Nos. 21 o 26 are Lon . Py
. 3 : 9 Answer Type Questip Ixg. 15
question carries 5 marks - "S- Answer apy, —_—
ons, Each

2 ® W3W$?Mfaﬁxqumaw.
b) ﬁaﬁﬁ'{ﬁm%mm . - -

a) Write the Principle of manufacture of sulphuric acid by contact proce
- ) S8.
b) Write the reactions of concentrated sulphuric acid with oxalic acid
2. a) mﬁfzaﬁaﬁxﬁmfﬁfmnﬁfﬁmﬁ;mmmﬁn
b) TR AR fawror § @ siew & 2 S 342
a) . Derive an expression for the rate constant of a first order reaction.

b)  Whatis the differcnce between osmosis.and diffusion ?
23. & FMEMTA—
) SR ) et e st @ vl wfemm @ @ 2
i) W;ﬁmﬁwﬁiﬁmmwm-wmmt 2 1+1
Ppifeifaa sogottoodto a1 e AT F SEd e 141+
i) 2-=gAR | |
ii) . N, N-gréfrer e
jii) 2-CAIRIIETA
a) What happens when — : hy sodim in prc;ence of dry ether ?

ide i d wi
il Mecthyl bromide is treate '
l) >y lysed in presence of acid ?

b)

ii) Ethyl acetate is hydro

page 27 of 28
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L) Write the structures of compounds whose TUPAC numcs are as follows :
il 2-Butanol
i) N, N-dimethyl methanamine

i} 2-Aminotoluenc.

24:" a)  HF.HCI HBr T 1) T TR} 996 e HM & ? 3
. _'6) Frfataa aMifisast &t qof Fifag 1% + 1%
i) CaHq +O;—*
i) 4Al +30, —* 5 !
a) Among HF.'HCI,- HBr and HI, which is the strongest reducing agent ?
b) Complete thé following reactions : ’
i), CHq10,—2., ;s
i) 4A1+30, —4 5 " '
25, a) ﬁqmm‘%?ﬁmﬁml
b) fmammﬁﬁ#sxmwﬁt?mmm:ﬁm
' 2+3
a) What are aﬁiﬁcial sweetening agents ? Give (wo cxamples.
b) What arc essential and non-essential amino acnda ? Give examples of

each type.
T IHA § S F TR 7m$3qum$mﬂ:ahm

wif| ®t | - . . s

What is elevation of boiling point ? Find the rclauon between elevatxon oi‘ bmhng

26.

point and molar mass of solute.
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